[image: image1.png]Select the correct option from the drop-down lists to complete the sentence.

Ataxpayer has income from seff employment interest rom savings accounts, and dividends.

“The penalty for faiing to keep adequate records to support his tax retun for this income could be a

masimum R of (3000 Rl
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Task 1.1
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Task 1.2
[image: image2.png]Select the correct options from the drop-down lists to complete the sentences.

‘The responsibiliyfor the accurate completion of a taxpayer's tax retum ultimately rests with

[tne taxpayer |+ ]
‘The responsibiliy for ensuring the right amount of taxation is paid by a taxpayer ulimately rests with

[tne taxpayer |+ ]





Task 1.3
[image: image3.png]‘Show the type of contract that would usually exist in the following circumstances by dragging the correct
‘options into the answer column of the table.

Options
(Contract of (Gontract of
‘The person for whom the workis being done will pay the holiday and | ™" senice.
sick pay to the taxpayer. jsenice.
(Contractfor| (Contractfr|
‘The person for whom the workis being done wil allow the taxpayer " |senvices
to sub-contract the work to another person. [senices






Task 1.4

[image: image4.png]Susan was employed by Global Ltd during 2013/14. Her salary information for the year was

Dat
Salary | From 1 January 2013 225600
Payrise | From 1 January 2014 1.5%)
Bonus | Received on 31 December 2013 2440
Bonus | Received on 4 March 2014 2320

Complete the following table to show Susan's taxable income for 2013/14.
You should use whole pounds only. If your answer is zero, please input 0.

Salaryto 31 December 2013 19200
‘Salary from 1January 2014 5495
Bonus 760





Task 1.5

[image: image5.png](a) Calculate the following figures for the 201314 tax year.

The cost of the carto be used in Alex's benefitin kind computation is: £

24800

‘The percentage charge for the car based on CO2 emissions used n the.

beneftin kind computationis: [ 26]%

‘The percentage used when calculating the assessable fuel benefitis:

The assessable benefitin kind for the use ofthe caris: £

5248

The assessable benefitin kind for the fuel benefitis: £

(b) Complete the following sentence.

Ifthe £100 per month paid by Alex had been a contribution towards the cost of is fuel, his total

beneftin kind charge would have [increased. %]





Task 1.6
[image: image6.png]{a) Place a tick in the appropriate column of the table below to show whether each of the items listed would
‘or would not resultin an assessable benefit in kind for an employee earning £21,000 in 201314,

it N it

in kind inkind
‘The employer lends an asset that cost £2,500 for six months

ofthe year.

‘The employer pays for all the cleaning costs associated with
‘accommodation thatis not job related.

‘The employer provides the employee with a short term loan of
£3,000.

‘The employer pays for a some new clothes for the employee
Sothathe can look smartin front of clents.

(b) Calculate the asessable benefitin kind (in whole pounds) for each of the following:

A companyvan is made available o one employee to use al the time during
2013/14, including for private usage. The employee, however, has to pay for 3000

allfuel,

As assetis made available to an employee on 1 November 2013. The asset
costthe employer £4,500 and the employee pays the employer £50 per 125]
month s a contribution towards his use.





Task 1.7
[image: image7.png]Indicate whether each of the following will or will not resultin an assessable benefitin kind for the employee by
dragging the correct options into the answer column of the table.

benefitin kind

Options.
Wil be treated Wil be treated
Al employees are given cash vouchers for £100 o be spentin their nearest asan asan
supermarket assessable assessable
benefitin kind penefitin kind
WillNOT be
The employer pays 8% of all employees salary into an occupational pension || treated as an
scheme. assessable Wil NOT be
benefitin kind treatedas an
assessable
WilNOT be benefitin kind
The employer pays for annual eye tests for all employees whose jobinvolves || treated as an
extensive use of a computer. assessable
benefitin kind
Will be treated
The employer provides direcors and senior managers with the use of hidech asan
bicycles which they mainly use recreationally atweekends. assessable





Task 1.8
[image: image8.png]() Answer the following question by inputting the correct figure in the box provided, then select from the
‘drop-down menu to show whether this figure will be a taxable amount or an allowable expense.

Ifyour answer is zero inputa “0”.

Victoria uses her own car for business travelling. During 2013/14, she travelled 11,800 business miles for which

‘she was paid 48p per mile by her employer. This means there will be 3 £

Jeremy paid the following amounts during the tax year 2013/14:

‘Occupational pension scheme 2800

Payroll giving scheme 1,000

(b) Complete the following sentence.

714]

e smom Kl

Jeremy's salaryfor 201314 will be [recuced Rl by £ [3800





Task 1.9

[image: image9.png]Netincome Interest received [fox dodsciod] gy Aukakiosal
Taxpayer atsource tax payable
3 £
3 £
aty 20210 1,080 495 0
aty 30210 2640 860 300





Task 1.10
[image: image10.png]() Answer the following question by inputting the correct answer (in pounds and pence) in the box provided.
Ifyour answer is zero, input a 0.

In iarch 2014, Quincey recsived 3 dividend cheque for £655. Quincey's salary is £65,000 and this is his only
other income. All of these dividends fallinto the dividend upper rate band.

Whatis the additional tax that Quincey will have to pay on these dividends after taking account of any associated
taxcredit? £ 166.50]

(b) Identify whether the following statementis true or false by selecting the correct option from the
drop-down list.

IfQuincey's salary and other income had totalled £180,000 he would have had paid tax at 45% on the above.

dividends.  [Faise  [Rdl|





Task 1.11
[image: image11.png]() Answer the following question by inputting the correct answer in the box provided. If your answer is
zero, input 0.

Paul has already invested £4,000 in a cash ISAin 2013/14. What s the maximum amount he can further
investin this cash ISA? £ 1760]

(b) Identify whether the following statementis true or false by selecting the correct option from the
drop-down list.

Damages received for personal injury are taxable.





Task 1.12
[image: image12.png]Calculate his total income tax liability for 2013/14, entering your workings into the blank table below.
You have been given more space than you will need.

H
|satary 132,450
IPension (13.245))
119,208
Bsi 1450
120,885
PA 0
120,885
[32.010 + (500 x 12 x 100/80)
30,510 x20% 7,902
le1,145x 40% 32458
40,360





Task 1.13

(a) 

The penalties for late payments are as follows:-

· Interest will be charged on any payments on account and balancing payments that are not paid after the due date. 
· Interest is charged from the date the tax is due to the day before it is actually paid.
· Penalties are also charged in addition to interest:

· More than 30 days late: 5% of tax overdue.
· More than six months late: further 5% of the tax overdue.
· More than 12 months late: further 5% of the tax overdue.
(b)
 

	31/01/13


	11,560  
	(16,800 – 13,640) + (16,800/2) = 3,160 + 8,400 

	31/07/13

 
	8,400   
	(16,800/2)

	31/01/14


	9,120  
	(17,280 – 16,800) + (17,280/2) = 480 + 8,640 


Task 1.14

[image: image13.png]1 Your name |2 Your Unique Taxpayer Reference (UTR)

Jane HERRINEE

HNENEEEENNNNEDE

Summary of your enclosed computations

Please read the Capital gains summary notes on pages CGN 10 to CGN 13 befare filling in this section. You must enclose your
computations, including details of each gain or loss, as well as filling in the boxes.

3| Total gains (Boxes 19 + 25 + 31 + 32) 10 Losses available to be carried forward to later years
¢ [13840 [£]
4| Gains qualifying for Entrepreneurs’ Relief (but excluding | 11| Losses used against an earlier year's gain (special
gains deferred from before 23 June 2010) circumstances apply - read the notes on page CGN 12)
- read the notes on page CGN 11 =
z L£]

12 Losses used against income - amount claimed
5| Gains invested under Seed Enterprise Investment against 2013-14 income - read the notes on page CGN 13
Scheme and qualifying for exemption - read the notes B
on page CGN 17 and 12 =





Task 1.14 (continued)
[image: image14.png]Losses brought farward and used in the year

£

Adjustment to Capital Gains Tax - read the notes

£

Addi

=

9,460

itional liability for non-resident or dual resident trusts

15 Deferred gains from before 23 June 2010 qualifying
for Entrepreneurs' Relief

Listed shares and securities

1

18

Number of disposals - read the notes on page CGN 13

3

Disposal proceeds

i

Allowable costs (including purchase price)

75,270

[ 73] Gains in the year, before losses

: [13840

| 20| If you are making any claim or election, put X' in
the box

£

61,430

| 21| I your computations include any estimates ar
valuations, put X' in the box

—





Section 2

Task 2.1

[image: image15.png]Complete the following sentence.

When ataxpayer has income from property, each rental income and expense for each individual property must

be disclosed [together B3 on his taxretum.





Task 2.2

[image: image16.png]Propertyincome 5400
Property expenses -
Cleaning and gardening costs 950
Waterrates 250
Managementfees 300
New heating system 0
Council tax 1200
PROFIT 2700





Task 2.3

[image: image17.png](a) Place a tick in the appropriate column of the table below to show whether the following statements
are true or false.

‘Rent-a-room relief can be claimed even ifthe room has been
let unfumished for part ofthe year.

In orderto claim ‘ent-a-room relief, the owner must have
‘occupied the property for at least some period during the tax
year.

(b) Complete the following statements by inputting the correct answer (in pounds) in the boxes provided.

Ataxpayer rents out a room in his only residence. His income and expenditure for the tax year 2013/14 are as
follows:

Rental income 5,240

Related expenses 4,870

fthe taxpayer makes an election for rent-a-room reliefto apply for the 2013/14 tax year he will paytaxon £

1,990

fthe taxpayer makes an election for rent-a-room relief notto apply for the 201314 tax year he will pay taxon £

1370





Task 2.4

[image: image18.png]For 2013/14, the annual exempt amount of £10,900 means this

‘amountis deducted from the proceeds of a sale, before the gain is
calculated.

‘The only rate oftax applicable to capital gains, is 18%.

‘Spouses are each enitied to an annual exempt amount.

Capital transactions between connected persons, including spouses,
are regarded as having been made at arm's length negotiation

Allforms of capital asssts are potentially chargeable to capital gains tax,
unless specifically exempt.





Task 2.5
[image: image19.png]Harry bought a chargeable assetin March 2004 for £43,500. He spent £1,800 on surveyor's fees to purchase
the asset and £3,100 on improving this assetin October 2008. Harry sold the asset for £94,500 in January
2014,

(a) Answer the following question by inputting the correct answer (in pounds) in the box provided and
‘select from the drop-down fist whether it is a gain or a loss.

varymace < [is100_] [an [l

(b) Show f the following statement s true or false
Tue  Faise

IfHarry had paid £700 per year n insurance costs to protect s asset, he would
have been allowed to deductthis costin his capital gains computation.





Task 2.6

[image: image20.png]No of Shares 7]
[y 2001 Purchase 700 15,500
[october 2004 Bonus ssue a0
40
[August2013 Purchase E] 7200
E 26500
Procesds 70200
Bouon 3500

600






Task 2.7

[image: image21.png]() Answer the following question by inputting the correct answer in the boxes provided.

Andrew bought an assetin February 2004 for £4,600. He sold the assetin September 2013 for £7,100.

Calculate the following:
The gain made on the disposal of this asset assuming no chattelrelief £ [ 200]
“The gain made on the disposal of this asset assuming there is chattel relief £ [ 1833]

{b) Show whether the following statement s true o false.

Tue  False

If Andrew had sold the above asset for less than £4,600, he would have made a
capital loss that could be offset against other capital gains.

(c) Complete the following sentence.

In'a part disposal computation, the [cost ofthe asset disposed ofis [allocated |+ ]
between the part sold and the partretained.





Task 2.8

[image: image22.png]Complete the following sentences as they relate to principal private residence (PPR).

Asman owns a house that he has never fved in. He [willnot ] be ble to claim PPR exemption.
Atime period of any length spent working abroad by a taxpayer [wil be treated as deemed

‘occupation forthe purposes of PPR.

Thetast [3 Rl vear(s) of ownership of a property is always freated as deemed occupation for the.

purposes of PPR.




Task 2.9

[image: image23.png]Answer the following questions by inputting only positive figures in whole pounds in the boxes provided.

(a) In 201314 3 basic rate taxpayer has £6,500 of her basic rate band unused. Her capital gains before
the annual exemption are £27,300. What will her CGT liabiliy for 2013114 be? £

[3.942

(b) In the pastfew years the taxpayer has made the following capital gains and losses.

201112 | 5100 |Gain afier annual exemption

2012113 | 3500 |Loss

20134 | 2800 |Gain afier annual exemption

What will be the unrelieved loss carried forward to 20141572 Ifyou think there is no loss to be carried
inputthe figure zero 0", £ [700





